JCE-1510UK

KOSHIN

A% JCE-1510UK-AAA-0 (059856402)

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA
* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | #mIa—R B & & EFAEZ wROg # B B (@ fi& =z
1| 059814401 | JCE-1510UK RV 7&Kk = 1 50,000
82 | 059195601 | JCE k—R/\> R 1 100 N
83| 059178101 | JCE #%&HIE3|HR— R 1| 1.4M AM=+—f+ 550
84 | 059179701 | A"B7 SRV 1| M8 X 30 100 N
85| 059176001 | JCE-1510K T <> K210 1 -
86 | 011688103 | H'YUy - #I iEE 780 1 100 N
87 | 059186101 | JCE-1510K R TX#HFT 54 v b 1 1,950
88 | 059186201 | AFIfTARIL b 2 100 N
89 0109269 JCER ML —F— 1 3,500 | PA-273(4971770-107694)
90 | 059186401 | FEES 2 | M8 g +0i-k 100 N
91| 059186501 | JCE-1510K B5#RI &K' Y7 R 1 1,050
92 | 059186901 | JCE-1510K B5#RI AR V7 L 1 1,050
93 | 059187001 | JCE-1510K B5#&RI ALY Y R 1 1,050
94 | 059187101 | JCE-1510K BA5#RI ALY Y L 1 1,050
95 | 059186601 | "RAZSVIfF&EFv b 8 100 N
96 | 059186701 | FEES 4 100 N
97 | 059187201 | /\REES 4 | M8 #+1240 100 N
98 | 059814701 | JCE-1510UK 7L —A ¥ = 1 21,500
99 | 059196001 | JCE-1510UK 7 L —A 1 20,500
100 | 059176302 | JCE-1408DX /\> KJL 1 5,500
101 | 059178301 | JCEZ' O A v k 5 100 N
102 | 059189701 | JCE-1510UK-AAA-O £tk 1 100 N
103 | 059196401 | JCE-1510UK fERAF A ILES )L 1 100 N
104 | 059161101 | JCE #£EEFES NIV 1 100 N
105 | 059161001 | JCE-1510K EEOEBAS NJL 1 100 N
106 | 059160501 | JCE-1510K OIS ~NJb 1 250
107 | 059812101 | JCE-1510K 33#a/ X)L & = 1| 5@ty b #030 2,750
059181101 | JCE #%&&IA/ X)L 1| & 550 N
059181001 | JCE-1510K 4 O E#L&L/ XV 1| B (030) 550 N
059180901 | JCE-1510K 2 5 EE#LEN/ XL 1 | #(030) 550 N

OEMEZAREBRORTITo>TEY EH A,

OBEBEPELKEETIEPHYET. ORFMEICHERISENTEY A,

OXHERIZHEDBIDPYET,




JCE-1510UK

KOSHIN

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA

BE  JCE-1510UK-AAA-0 (059856402) * ZRMERIIBE—EHR Y OBEENEEETT

No. | #mIa—R B & & EFAEZ wROg # B B (@ fi& =z
059180801 | JCE-1510K 1 5 EE#iER/ X)L 1| #(30) 550 N
059178401 | JCE-1510K E5t./ X)L 1| 7% (30) 550 N

108 | 059175602 | JCET V& v FhTS5—(F54) 1 750

109 0109259 JCE-1510K [El%5 / X )b 1 15,600 | PA-270(4971770-107595)

110 | 059178001 | JCE-1510K Sk — X 1] 3m 1,100

111 | 059814101 | JCE KEEHEAR—RIZ (FH) 1 4,000

112 0109268 JCERAKR—X (3 m) 1 7,400 | PA-272(4971770-107687)

113 | 059814301 | JCE-1408UDX K—RT7w & & = 1 1,450

114 | 059180701 | JCE E B\l oHhil 2| 617 100

115 | 059811901 | JCE E#hs = 2 1,250

116 | 059178601 | JCE # A+ 2 | 1047F 3,500

117 | 059811701 | JCE-1510K ¥ v 3> TAV =X 2 250

118 | 059178701 | JCE / X)H U —F—E> 1| SUS 100 N

119 0109258 JCE-1510K / XI5 > R 1 6,500 | PA-269(4971770-101588)

120 | 0109256 JCEAY (724 vF) 1 10,700 | PA-267(4971770-107564)

121 0109253 JCE ERA-2 10M 77497 1| JCE-1510K M Hfi-243 16,500 | PA-262(4971770-107533)

122 | 059184801 | JCE OU >4 9 X 25 2 9%x25 100 N

123 | 059184901 | JCE OU >4 11.7 X 2.65 1] 117 X 265 100 N

124 | 059185101 | JCE BRAKR— R/ F> 1] 24x18x%2 100 N

125 | 059188201 | JCED ¥ v FHhTS— (VT v ) 1 800

126 | 059176501 | JCE-1408DX /\> RIVEEE > 1 200

127 | 059813202 | JCE-1408DX /\> R)L & = 1 6,350
059189901 | JCE-1510UK Ex#ksHEAZE 1 300 N
100031904 | K180K210 T ¥ »EREH 1 100 N
059196301 | JCE-1510UK # A JLixE#(LE 1 100 N
059189401 | JCE-1510UK 444 — X 1 3,300

OEMBEAZEBRORTERToTEY £t A,

OEfRIFER<EETHEDBHYET,

OXRREEICHERIEENTE Y £t A.

OXHERIBHEB PPV ET,




JCE-1510UK K7 KOSHIN

N
=
\

@
© ®
/

—_—

@@

[

H
|\

(ZAN
i
;

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA

K42 JCE-1510UK-AAA-0 (059856402) R > 7" &R * EREREBE—EHE Y OBEE NEHETT
No. | #mIa—R B & & EFAEZ HoK - M " B (@ fi& =z
2| 059182701 | JCE-1510K 7R/ ft & RIL b M6%16 10 | M6 X 16 100 N
3| 059814501 | JCE-1510UK RL > 75440 = 1 200 N
4| 059190301 | JCE-1510UK KL > 754 1] 16X 15 100 N
5| 059170401 | JCE-1408 O >4 14.2%1.9 1] 142X 19 100 N
6 | 059190502 | JCE-1510UK &5 > &4 —RHh/N— 1 1,850
7 | 059183401 | JCE-1510K O U >4 104%3 1] 104X 3 150 N
8| 059190401 | JCE-1510UK A A I F+ v 1 200 N
9| 059190601 | JCE-1510UK A A IV L > XF v v 1 1,500
10 | 059190701 | JCE-1510UK O U %" 38%18 1]38x%x18 100 N
11| 059190801 | JCE-1510UK #{MYA’ 1 150 N
12 | 059190901 | JCE-1510UK #4IW5" =¥ y=b 1 100 N
13 | 059191001 | JCE-1510UK byA 4Yy7" 1 100 N
14 | 059191101 | JCE-1510UK O U 4" 55.25%2.62 1 | 5525 X 2.62 100 N
15 | 059191201 | JCE-1510UK Afy7 Uvs 1125 100 N
16 | 059191301 | JCE-1510UK N7 I >4 62:%25%17 1] 62X 25X 17 2,100
17 | 059191401 | JCE-1510UK 5> o<+ 7 k 1 7,500
18 | 059191701 | JCE-1510UK 45> 445 —2R 1 9,000
19 | 059184001 | JCE-1510K =— RJLRF7 U & 1 2,550
20 | 059183701 | JCE-1510K Ol >4 51.8%2.2 2| 518x%x22 100 N
21| 059161301 | JCE-1510K 7<f7uft& )L b M8%16 8 | M8 X 16 100 N
22 | 059184101 | JCE-1510K 75> 1 2,550
23| 059161201 | JCE-1510K A L —JLA 1 650 N
24 | 059191501 | JCE-1510UK a>@Aw b 3 950
25| 059161501 | JCE-1510K 2> Aw KE> 3 100 N
26 | 059191601 | JCE-1510UK 7’52+ — 3 2,800
27 | 059173501 | JCE-1408 OU >4 15%2.5 3| 15%x25 100 N
28 | 059161801 | JCE-1510K A+ A )L —ILB 3 950 N
29 | 059161901 | JCE-1510KEER M A A K 3 550 N
30 | 059162001 | JCE-1510K O U >4 3| 267 X 178 100 N
31| 059162101 | JCE-1510K PR k> —JLA 3 950 N

OBMRALEBROBERToTEY Ko, DBAERIFEL<EETSIEDPHYET. DRFMIBICHERBEENTEYEtA. OXBIFIEHEIPHVET.



JCE-1510UK K> 7

KOSHIN

@
@

Fl\.‘
S

1

Y

.
8
\\‘ ) ,/

il

[

N

I

Q—Cww—{—{ @+

;
/

B4 JCE-1510UK-AAA-0 (059856402) 7R > 7"&R

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA
* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | #mIa—R B & & EFAEZ BROg # B B (@ fi& =z

32 | 059162201 | JCE-1510KER R U &' A 3 550 N
33| 059162301 | JCE-1510KER /8w 3 450 N
34 | 059162401 | JCE-1510KEER k> —JLB 3 1,150 N
35| 059162501 | JCE-1510KEER kU 4B 3 600 N
36 | 059162601 | JCE-1510K +F/fF&EFNNRY 1| M6X8 100 N
37 | 059162701 | JCE-1510K EHFEEE/ 7 1 550

38 | 059162801 | JCE-1510K FEHAZEAG 1 1,350

39 | 059162901 | JCE-1510K EHFER T >4 1 400

40 | 059163001 | JCE-1510K EHRER T /X % 1 200 N
41| 059163201 | JCE-1510K RANfTEIEHRY 1| M4X4 100 N
42 | 059163101 | JCE-1510K EHFAEF v b 1 300 N
43| 059809901 | JCE-1510K 7 »A—4"—/N)V T U = 1 2,800

44 | 059163401 | JCE-1510K [E S FAZEHFE 1 350 N
45| 059163301 | JCE-1510K OV >4 1] 925X 178 100 N
46 | 059163501 | JCE-1510K H7kigie 1 850

47 | 059163601 | JCE-1510K OV >4 1] 122 X 24 100 N
48 | 059191901 | JCE-1510UK M/ NIV A4k 1 4,200

49 | 059191801 | JCE-1510UK T v+ & = 1 100 N
50 | 059163901 | JCE-1510K 754" 5 600 N
51| 059164001 | JCE-1510K O U >4 6 | 18 X 265 100 N
52 | 059193301 | JCE-1510UK BRA - HHFH 2 = (11.8MM) 6 | 11.8MM 550 N
53 | 059164101 | JCE-1510K O lJ >»%" 1554 X 2.62 6 | 1554 X 262 100 N
54 | 059164201 | JCE-1510K EAHEt 1 4,950

55| 059164301 | JCE-1510K EHhEt7S54 1 550

56 | 059192301 | JCE-1510UK R > 77k 1 22,000

57 | 059192701 | JCE-1510UK 7<f4¢ ZGT1/4 1 750 N
58 | 059192601 | JCE-1510UK 7Xfa1¢ NPT1/4 1 750 N
59 | 059167501 | JCE-1408 #%HIRA=v Il 1 550 N
60 | 059167601 | JCE-1408 OYU 4" 447 X 1.78 1| 447 X 1.78 100 N
61| 059167701 | JCE-1408 &R A 1 100 N

OEMBEAZEBRORTERToTEY £t A,

OEfRIFER<EETHEDBHYET,

OXRREEICHERIEENTE Y £t A.

OXHERIBHEB PPV ET,




JCE-1510UK R 7

KOSHIN

)

!»“’

“\!I{

g

Il

A

72

J

kb

)

( CH

N

-

NIcerrece)
G

® ®,

B4 JCE-1510UK-AAA-0 (059856402) 7R > 7" &R

*EREKEZ TBCEALTVAERTY. AUBTRHYEEA
* RORMMAE I ERR—EH 7 Y OBRE NFEMIE TS

No. | #mIa—R = - EFRMEL B - M H B (@ fi& =z

62 | 059167801 | JCE-1408 JHKIBART U & 1 100 N
63 | 059165001 | JCE-1510K O U >4 42%2.4 2| 42 %24 100 N
64 | 059165101 | JCE-1510K rtiHis 1 350 N
65 | 059165201 | JCE-1510K HHHFR T >4 1 100 N
66 | 059173201 | JCE-1408 O >4 21 14%X19 100 N
67 | 059192001 | JCE-1510UK M AR % — 1 1,600

68 | 059192101 | JCE-1510UK 7 >4 vFHhTS5— 1 900

69 | 059195801 | JCE-1510K O U4 11.3 X 2.4 1] 113X 24 100 N
70 | 059192201 | JCE-1510UK BRA - RK/NIVT A 1 2,400

71| 059195901 | JCE-1510K O >4 16.3 X 2.4 2| 163 %X 24 100 N
72 | 059192501 | JCE-1510UK BRARIL b 1 1,800

73| 059166201 | JCE-1510K BRA T 1 JL& — 1 350 N
74 | 059165901 | JCE-1510K RAT &7 % — 1 900 N
75| 059193201 | JCE-1510UK T v v & X 22 1 100 N
76 | 059192401 | JCE-1510UK £27k1i99- 1 850

77 | 059192801 | JCE-1510UK R U >4 0.7%5.7:18%7.5 1] 07X57X18X75 100 N
78 | 059192901 | JCE-1510UK [EH/8ILT 1 950 N
79 | 059193001 | JCE-1510UK OU >4 11.4%1.78 1] 114X 178 100 N
80 | 059193101 | JCE-1510UK /NJL7'# 1 650

81| 059166001 | JCE-1510K 7A@ fFEHRIL b 8 | M5 X 55 150 N
82 | 059818301 | JCE-1510UKR> 74 = 1 30,000

83 | 059818401 | JCE-1510UK H A —RU X 1 21,000

OEMEZAREBRORTITo>TEY EH A,

OBEBEPELKEETIEPHYET. ORFMEICHERISENTEY A,

OXHERIZHEDBIDPYET,




